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III. MULTIPLE CHOICE QUESTIONS:     
 nfhs;Fwp tpdh:           (20X1=20) 
 
1. rpW%isia tnwhypj;Jd;dj;Jld; ,izg;Gj. 

  A. Nky; rpW%is ghfk;.  B. eL rpW%is ghfk;. 
  C. fPo; rpW%is ghfk;.  D. Nfhh;j;j ghfk;. 

      Cerebellum is connected with Pons Varolis by.  
  A. Superior Cerebellar Peduncle.    B. Middle Cerebellar Peduncle.  

C. Inferior Cerebellar Peduncle.  D. Crus Cerebri.   
 

2. ghh;itg; Gwzp ,jw;F mUfpy; cs;sJ. 
   A. gplh;j; JUtk;.  B. Nfehu JUtk;. 
   C. new;wp JUtk;.  D. kfh Afk;. 
    Visual Cortex is located near the. 
   A. Occipital Pole.  B. Temporal Pole. 
    C.  Frontal Pole.  D. Corpus Callosum. 
 
3. tpjhd euk;gpd; Nth; kjpg;G gpd;tUk; fNrU euk;Gfspd; Kw;fpisfs;. 
   A. fOj;J euk;Gfspy; 1> 2> 3.   B. fOj;J euk;Gfspy; 2> 3> 4. 

 C. fOj;J euk;Gfspy; 3> 4> 5.   D. fOj;J euk;Gfspy; 6> 7> 8. 
Root Value of Phrenic Nerve is Ventral Rami of the following Spinal Nerves. 

A. Cervical 1, 2, 3.       B. Cervical 2, 3, 4. 
  C. Cervical 3, 4, 5.       D. Cervical 6, 7, 8 

 
4. thJik cWg;G (Amygdaloid Body) cs;sPl;L J}z;ly;fis ngWtJ ,jd;%yk.- 
  A. ghh;itg; ghij.  B. Efh;T ghij. 
  C. Nfs;tpg; ghij.  D. cNuhju euk;G. 
     Amygdaloid Body gets afferents from. 

  A. Optic Tract.  B. Olfactory Tract. 
  C. Auditory Pathway.  D. Vagus Nerve. 
 

P.T.O. 



5. Nfhh;j;jfNrU ePh;> %is miwfis tpl;L ntspNaWtJ ,e;j miwapd; $iuapd; 
  Jthuq;fs; topahf. 

   A. tyJ gf;f miw.  B. %d;whk; miw. 
   C. ehyhk; miw.  D. ,lJ gf;f miw. 

The Cerebrospinal Fluid goes out of the Ventricular System through openings in the Roof of- 
  A. Right Lateral Ventricle. B. Third Ventricle.  
  C. Fourth Ventricle.  D. Left Lateral Ventricle.                   
 

6. eLf;fhjpd; mfr;Rthpd; ,d;ndhU ngah;. 
A. gpukz Rth;.  B. fphPt Rth;.  C. R+Rf Rth;.  D. fe;ju Rth;. 

    The medial wall of the Middle ear is the.  
A. Labyrinthine Wall.    B. Carotid Wall.     C. Mastoid Wall. D. Jugular Wall. 
 

7. ehf;fLf;fspy;; mjpf vz;zpf;ifapy; fhz;git. 
 A. ,iyf; fLf;fs;.   B. eha;f;Fil fLf;fs;. 
 C. nguzp fLf;fs;.   D. fpz;z cU fLf;fs;. 

Most numerous Papillae of the tongue are. 
A. Foliate Papillae.   B. Fungiform Papillae. 

  C. Filiform Papillae.    D. Vallate papillae. 
 

8. Fuy; tisapd; cs;sike;j Ngrpfspy; (Intrinsic Muscles) Ch;kpif tPjdp jtpu 
kw;w NgrpfSf;fhd euk;G. 

 A. fpUf kPS euk;G.   B. Nkw; fpUf euk;G. 
 C. tpjhd euk;G.   D. ehf;fPo; euk;G. 

All Intrinsic Muscles of the Larynx except Cricothyroid are supplied by. 
    A. Recurrent Laryngeal Nerve. B. Superior Laryngeal Nerve. 

C. Phrenic Nerve.   D. Hypoglossal Nerve. 
 

9. ,jaj;jpd; kpfg;nghpa ehsk;. 
  A. Kd; ,ja ehsk;.   B. ,jag; ngU ehsk;. 
  C. Ntl;l jhuzp.   D. tyJ Xu ehsk;. 

Largest Vein of the Heart is. 
  A. Anterior Cardiac Vein.   B. Great Cardiac Vein. 
  C. Coronary Sinus.    D. Right Marginal Vein. 
 

10. ~~mwpTg;gy;" vdg;gLtJ? 
  A. %d;whk; nfhbw;Wg; gy;.  B. Kjy; ,izf;fU gy;. 
  C. ,uz;lhk; Y}d gy;.  D. Kjy; nfhbw;Wg; gy;. 

        Which among the following is called “Wisdom Tooth”? 
   A. Third Molar.   B. First Premolar. 
   C.  Second Incisor.   D. First Molar. 
 

11. njhz;ilapd; ePsk; Vwj;jho. 
  A.   8 nr.kP.  B. 12 nr.kP.  C. 16 nr.kP.  D.  4 nr.kP. 

The Length of Pharynx is about. 
 A.   8 cm.   B. 12 cm.   C. 16 cm.   D.   4 cm. 
 
 
                     P.T.O. 
 
 



12. grjFly;> tapw;wiwapd; ve;j Mjhuj;jpd; Kf;fpa cWg;ghFk;? 
  A. Nky; tapW. B. ehgp.  C. fPo; tapW.  D. tyJ rs;is. 
       The Duodenum is the Main Content of which Abdominal Region? 

A. Epigastric.  B. Umbilical.  C. Hypogastric.  D. Right Lumbar     
 

13. tapw;wiwapd; fhtyd; vdg;gLtJ? 
  A. rpw;wtspif. B. kjpGhpjk;.  C. kjpahe;jpuk;. D. Ngutspif. 

“Policeman of the Abdomen” is? 
        A. Lesser Omentum.    B. Mesocolon. C. Mesentery.             D. Greater Omentum. 

 
14. nkf;gh;dpapd; Gs;sp vd;gJ ve;j Nehapy; mjpfgl;r njhLtyp fhZk; ,lk.- 

A. ngg;bf; my;rh;. B. gpj;jg;ig jhgpjk;.   C. ehq;$o; jhgpjk;. D. rpWePuff; fy;. 
McBurney’s Point is the site of maximum tenderness in. 
       A. Peptic Ulcer. B. Cholecystitis.      C. Appendicitis.    D. Urolithiasis. 
 

15. taJ te;j Mzpd; rpWePh;g;igapd; ruhrhp nfhs;ssT. 
  A. 220 kpyp.  B. 100 kpyp.     C. 420 kpyp.   D. 520 kpyp. 
       Mean Capacity of the Urinary Bladder of an Adult male is about. 
   A. 220 ml.  B. 100 ml.          C. 420 ml.       D. 520 ml. 
 
16. ngz; rythfpapd; ePsk;. 
  A. 1 nr.kP.  B. 2 nr.kP.     C. 4 nr.kP.   D. 6 nr.kP. 

Length of Female Urethra is. 
       A. 1 cm.   B. 2 cm.          C. 4 cm.       D. 6 cm. 
 

17. tpe;J nry;fs; Njf;fp itf;fg;gLk; ,lk;. 
 A. rprpdk;.  B.  gPNrhghp.   C. gPrf;nfhb.     D. Gu];j Nfhsk;. 

The reservoir of spermatozoa is. 
 A. Penis.  B. Epididymis.   C. Spermatic cord. D. Prostate. 

 
18. rhy;gpq;]; vd;gJ vjd; ,d;ndhU ngah;. 
 A. fUg;ig.  B. Nahdp.   C. rpidg; ghij.     D. fUg;ig fOj;J. 

      Salpinx is the other name of. 
  A. Uterus.  B. Vagina.      C. Uterine Tube.         D. Cervix of uterus. 
 
19. taJ te;Njhhpd; gpUf;Nfhghp xd;wpd; vil. 
 A.   5 fpuhk;.  B.   1 fpuhk;.  C. 15 fpuhk;.  D. 20 fpuhk;. 

The weight of an adult’s Suprarenal gland is. 
 A.   5 grams.  B.   1 gram.  C. 15 grams.  D. 20 grams. 
 

20. ghptPjd Nfhsq;fs; nghJthf tPjd Nfhsj;jpd; ,g;gFjpia xl;b ,Uf;Fk;. 
 A. fOe;J.  B. Kd;Ndhuk;.  C. rpfuk;.  D. gpd;Ndhuk;. 

The Parathyroid Glands usually lie on which part of the Thyroid Gland. 
 A. Isthmus.  B. Anterior Border. C. Pyramidal Lobe. D. Posterior Border 
              ***** 
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III. MULTIPLE CHOICE QUESTIONS:     
 nfhs;Fwp tpdh:            (20X1=20) 
 
1.  Ogt<uqh<!Hx{q!njlf<Kt<t!-ml<?!Ogii<k<kk<kqe<!............/!!
! !A. ofx<xqh<!hGkq! B. hqk<kqjg!hGkq! C. hqmi<!hGkq!!!!! D. Ogfiv!hGkq!
     Auditory Cortex is located in Cerebrum’s --------. 

      A. Frontal Lobe B. Parietal Lobe C. Occipital Lobe D. Temporal Lobe 
 

3/!Ogii<k<kk<kqe<!hikqgjt!-j{g<Gl<!dXh<Hgtqz<<!lqgh<!ohiqbK!.........../!

       A. fkqgl<! ! B. Le<!Bgl<!! C. lgi!Bgl<!! D. hqe<!Bgl<!
The Biggest Commissure connecting the Cerebral hemispheres is ----------.   

A. Fornix    B. Anterior Commissure 
C. Corpus Callosum   D. Posterior Commissure 

 
4/!&jtbqe<!-V!hg<g!njxgtqZl<!d{<miGl<!Ogii<k<kgOsVfQi;< !&e<xil<!njxg<G!!

!!uVl<!upq!.........../!

! ! A. fie<gil<!njx! ! ! B. le<Oxik<!Kuivl<!
! ! C. sqz<uqbi<!gikl<! ! ! D. lio\{<c!Kuivl<!

The Cerebrospinal Fluid secreted in the two Lateral Ventricles goes to the Third Ventricle  
through ---------------. 

          A. Fourth Ventricle   B. Interventricular Foramen 
          C. Cerebral Aqueduct   D. Foramen of Magendie 
 
5/!dmzqe<!outq!fvl<H!l{<mz!fvl<Hgtqz<!lqgk<!kck<kK!............../!

 A. Njv!fvl<H! B. okijm!fvl<H! C. lk<kqb!fvl<H! D. Ohvise!fvl<H!
The thickest Peripheral Nerve is ----------. 
       A. Radial Nerve B. Femoral Nerve C. Median Nerve D. Sciatic Nerve 

 
6/!Lke<jl!-bg<g!&jth<Hx{q!)Primary Motor Area of Cerebral Cortex*!hGkqbqe<!!
!!hqvim<Ole<!hGkq!w{<!)Brodmann’s Area Number*!........./!

! ! A. 5! ! ! B. 2! ! ! C. 4! ! ! D. 3!
                 Primary Motor Area of the Cerebral Cortex corresponds to Brodmann’s Area Number ---. 

A. 5! ! ! B. 2! ! ! C. 4! ! ! D. 3! ! P.T.O. 



7/!jgg<Gpf<jkbqe<!Ogt<uqk<!Kuivk<jkBl<?!Negs<!su<juBl<!hiqOsikqg<g!osuq!

lmjz!-Pg<g!Ou{<cb!Ljx!........../!

! A. OlZl<!Le<Elig!! ! B. gQPl<!hqe<Elig/!
! C. OlZl<!hqe<Elig!! ! D. gQPl<!Le<Elig/!

     To examine the External Auditory Meatus and Tympanic Membrane of an Infant, the auricle     
      should be drawn ---------. 

          A. Upwards and Forwards  B. Downwards and Backwards 
          C. Upwards and Backwards  D. Downwards and Forwards 
 
8/!outqk<Okizqz<!dt<t!whqkQzqb!uqz!nMg<Ggtqd; )Strata*!w{<{pf<jg!.............!

A. &e<X! ! B. NX!! ! C. Jf<K! ! D. fie<G!
     Epidermis is made up of how many Strata of Epithelium? 
            A. Three  B. Six   C. Five                         D. Four 

 
9/!hqe<g{<mux<Xt<!wK!lk<kq <̂kiek<kqe<!wz<jz!nz<z@!

! A. uqkiel<! ! B. ofR<ose<H!! C. ofR<sjv!uibqz<!!D. gPk<K!ul<sqgt<!
Among the following, which is NOT a boundary of Mediastinum? 
 A. Diaphragm  B. Sternum  C. Thoracic Inlet   D. Cervical Vertebrae 
 

:/!yvi{<M!ubKjmb!Gpf<jkbqe<!-kb!Feq!Kch<H?!osk<KV!fMg<Ogim<cz<!wf<k!

!!-mk<kqz<!gi{h<hMl<@!

! A. -mK!fie<gil<!hPuqjm!outq!! B. -mK!Jf<kil<!hPuqjm!outq!
! C. -mK!&e<xil<!hPuqjm!outq!! D. -mK!Nxil<!hPuqjm!outq!

     Apex beat of a one year old Child will be in the Midclavicular line of? 
  A. Left Fourth Intercostal Space  B. Left Fifth Intercostal Space 
 C. Left Third Intercostal Space  D. Left sixth Intercostal Space 

 
21/!-jvg<Gpzqe<!ubqx<X!hr<gqe<!fQtl<!........./ 
 A. 31!os/lQ! ! B. 2/36!os/lQ! !!!! !!C. 6!os/lQ!! D. 3/6!os/lQ!

Length of the Abdominal Part of Oesophagus is --------. 
A. 20 cm  B. 1.25 cm              C. 5 cm   D. 2.5 cm 

 
22/!Gcg<gh<hMl<!kqvur<gtiz<!nkqgl<!hikqh<H!njmBl<!-jvh<jhbqe<!hGkq!........./!

!! A. ohV!ujtU! !!B. HG!uibqz<! !!!C. gpq!uibqz<! !D. sqX!ujtU!
       Part of Stomach which bears maximum insult of swallowed Fluids is ------. 

A. Greater Curvature     B. Cardiac Orifice       C. Pyloric Orifice    D. Lesser Curvature 
 

23/!ul<sq!nch<hjmbqz<!hsk!Gmzqe<!-Vh<hqml<!........../!

A. hk<kil<!LKG!ul<sq!Lkz<!Lkzil<!-jm!ul<sq!ujv!
B. Wpil<!LKG!ul<sq!Lkz<!hk<kil<!LKG!ul<sq!ujv!
C. Lkzil<!-jm!ul<sq!Lkz<!&e<xil<!-jm!ul<sq!ujv!
D. &e<xil<!-jm!ul<sq!Lkz<!Jf<kil<!-jm!ul<sq!ujv!

 Location of the Duodenum in the Vertebral Level ----------. 
      A. Thoracic 10 to Lumbar 1   B. Thoracic 7 to Thoracic 10 

C. Lumbar 1 to Lumbar 3  D. Lumbar 3 to Lumbar 5 
 

24/!ogig<gq!fQm<sq!)Uncinate Process*!gQp<g<g{<m!dXh<Hgtqz<!wkqz<!gi{h<hMl<@!
!! A. gz<zQvz<! ! B. gj{bl<! ! C. l{<{Qvz<! ! D. hsk!Gmz<!

Which organ has Uncinate Process? 
 A. Liver   B. Pancreas  C. Spleen  D. Duodenum    P.T.O. 

!



25/!gz<zQvz<!-vk<kl<!ohXl<!skuQkl<!.............../!

A. 80% Ousg!fitk<kqzqVf<K? 20% =vz<!ficbqzqVf<K!
B. 60% Ousg!fitk<kqzqVf<K? 40% =vz<!ficbqzqVf<K 
C. 20% Ousg!fitk<kqzqVf<K? 80% =vz<!ficbqzqVf<K 
D. 40% Ousg!fitk<kqzqVf<K? 60% =vz<!ficbqzqVf<K!

Blood Supply to Liver is -----------. 
      A. 80% from Portal Vein and 20% from Hepatic Artery    
      B. 60% from Portal Vein and 40% from Hepatic Artery 
      C. 20% from Portal Vein and 80% from Hepatic Artery    
      D. 40% from Portal Vein and 60% from Hepatic Artery 

 
26/!yu<ouiV!sQXfQvgk<kqZl<!dt<t!%Xgtqe<!)Segments*!w{<{qg<jg!............./!
! ! A. &e<X! ! B. Jf<K! ! C. WP!! ! D. ye<hK!
  The number of Segments in each Kidney are ----------. 
   A. Three  B. Five   C. Seven  D. Nine 
 
27/!Olgkqbqe<!svisiq!uqm<ml<!........./!

  A. &e<X!lq/lQ!! B. yV!lq/lQ! ! C. WP!lq/lQ! ! D. Jf<K!lq/lQ!
Average Diameter of the Ureter ----------. 

A. 3 mm  B. 1 mm  C. 5 mm  D. 7 mm 
 

28/!hQsr<gTg<G!sgOuk!fvl<H!ohxh<hMuK!wf<k!gOsV!fvl<H!hr<gqzqVf<K!........../!

A. wm<mil<!LKG!fvl<H!hr<G! ! B. hk<kil<!LKG!fvl<H!hr<G!
C. heqov{<mil<!LKG!fvl<H!hr<G!! D. -v{<mil<!-jm!fvl<H!hr<G!

The Testis is supplied by Sympathetic Nerve Fibres from which Spinal Cord Segment ---------. 
 A. T8   B. T10    C. T12   D. L2 

!

29/!uqmhfjs!jlb!Lcs<sqz<!)Perineal Body) OsVl<!Ohsqgtqe<!olik<k!w{<{qg<jg!........./!
! ! A. Jf<K! ! B. hkqeie<G!! C. hk<K! ! D. hkqeiX!

How many Muscles converge in the Perineal Body? 
  A. Five  B. Fourteen   C. Ten   D. Sixteen 
 
2:/!uQke!Ogitk<kqe<!gPf<K!)Isthmus*!njlBlqml<!Suisg<Gpz<!LVf<K!ujtb!w{<{qg<jg!
!!!!ntuqz<!............/!

A. -v{<mil<!ujtbl<!Lkz<!fie<gil<!ujtbl<!ujv!
B. Wpil<!ujtbl<!Lkz<!ye<hkil<!ujtbl<!ujv!
C. wm<mil<!ujtbl<!Lkz<!hk<kil<!ujtbl<!ujv!
D. Jf<kil<!ujtbl<!Lkz<!Wpil<!ujtbl<!ujv!

   The Isthmus of the Thyroid Gland is usually in the level of ----------. 
A. Second to Forth Tracheal Ring  
B. Seventh to Nineth Tracheal Ring 
C. Eighth to Tenth Tracheal Ring                                                             
D. Fifth to Seventh Tracheal Ring 

 
31/!uzK!hqVg<Ogihiqbqe<!ucul<!.........../!

!!!!!!!A. fie<Lgl<!! ! B. hqvlqM! ! C. hqjx! ! D. Lm<jm!
  The shape of Right Suprarenal Gland is -----------. 
          A. Tetrahedral  B. Pyramidal  C. Semilunar  D. Ovoid 

***** 


